

ACTIVIDAD

RAIZ ENESIMA

➤ *Complete las siguientes expresiones*

$$\sqrt{4} = 2 \quad \text{ya que} \quad (2)^2 =$$

$$\sqrt{9} = 3 \quad \text{ya que} \quad (3)^2 =$$

$$\sqrt{16} = 4 \quad \text{ya que} \quad (\square)^2 = 16$$

$$\sqrt{25} = 5 \quad \text{ya que} \quad (5)^\square = 25$$

$$\sqrt{36} = 6 \quad \text{ya que} \quad (\square)^2 =$$

$$\sqrt[3]{27} = 3 \quad \text{ya que} \quad (3)^3 =$$

$$\sqrt[5]{32} = 2 \quad \text{ya que} \quad (2)^\square = 32$$

$$\sqrt[4]{16} = 2 \quad \text{ya que} \quad (2)^4 =$$

$$\sqrt[3]{-8} = -2 \quad \text{ya que} \quad (-2)^3 =$$

$$\sqrt[4]{81} = 3 \quad \text{ya que} \quad (3)^4 =$$

➤ *Calcula las siguientes raíces:*

$$\sqrt{49} = 7 \quad \text{ya que} \quad (7)^2 = 49$$

$$\sqrt{64} = \quad \text{ya que} \quad (\square)^{\square} =$$

$$\sqrt{81} = \quad \text{ya que} \quad (\square)^{\square} =$$

$$\sqrt{100} = \quad \text{ya que} \quad (\quad)^{\square} =$$

$$\sqrt{144} = \quad \text{ya que} \quad (\quad)^{\square} =$$

$$\sqrt[5]{1024} = \quad \text{ya que} \quad (\quad)^{\square} =$$

$$\sqrt[5]{-243} = \quad \text{ya que} \quad (\quad)^{\square} =$$

$$\sqrt[3]{125} = \quad \text{ya que} \quad (\quad)^{\square} =$$

$$\sqrt[3]{-64} = \quad \text{ya que} \quad (\quad)^{\square} =$$

$$\sqrt[4]{256} = \quad \text{ya que} \quad (\quad)^{\square} =$$